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1
Introduction
In this contribution, we discuss one issue regarding RA-RNTI determination for PRACH in TDD.
2
Discussion
In TDD, the RA-RNTI is determined as follows (36.321):

The RA-RNTI associated with the PRACH in which the Random Access Preamble is transmitted, is computed as:

RA-RNTI= 1 + t_id+10*f_id

Where t_id is the index of the first subframe of the specified PRACH (0≤ t_id <10), and f_id is the index of the specified PRACH within that subframe, in ascending order of frequency domain (0≤ f_id< 6).
As an example, consider a DL/UL subframe configuration #1 with a PRACH configuration index of 57, the following PRACH resources are defined:

(0,0,0,*) ( f_RA=0, subframe 1
(0,0,1,*) ( f_RA=0, subframe 6
(1,0,0,*) ( f_RA=1, subframe 1
(1,0,1,*) ( f_RA=1, subframe 6
(2,0,0,*) ( f_RA=2, subframe 1
(2,0,1,*) ( f_RA=2, subframe 6
The frequency location for PRACH format 4 in a subframe is given by (36.211):
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As a result, assuming a 10MHz system (50RBs) for subframe 1, nRAPRB is given by 0, 6, and 12 for f_RA=0, 1, and 2, respectively. For subframe 6, nRAPRB is given by 44, 38, and 32, for f_RA=0, 1, and 2, respectively. 
For subframe 1, the ascending order of frequency domain (f_id) is consistent with f_RA. However, for subframe 6, the corresponding frequency resources for PRACH for f_RA are reversed – f_RA=0 corresponding to the highest frequency location. As a result, two possible implementations may be possible for subframe 6:
· Alt 1: the ascending order of frequency domain f_id is aligned with f_RA indexing

· This implies that in the above example, f_id = f_RA

· Alt 2: the ascending order of frequency domain f_id is based on the physical frequency location

· This implies that in the above example, f_id = 2 for f_RA=0, f_id=1 for f_RA=1, and f_id=2 for f_RA =0.

It is recommended that RAN1 discusses and concludes the intended operation.

3
Conclusions 
In this contribution, we discussed one issue RA-RNTI determination for PRACH in TDD. In particular, two alternatives are possible:
· Alt 1: f_id indexing is aligned with f_RA indexing

· Alt 2: f_id indexing is based on the physical frequency location of PRACH

It is recommended that RAN1 discusses and concludes on the intended operation.
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